Phy 2B 3/16

Monday, March 16, 2015 9:40 AM

?\ 6'\(5‘<o~‘\§<_su\ —P‘(\"‘ L\ew

VD aad Hotal AN & Coewnn

R

3+M KS\' Coown ‘\<w8

(’Jb\q\— s ’k(om NQ.+ f&}\\ Qf\'t} ?ownf' o’g +L{ S“\-Q\!{ 7

€ewrd — &t Vaoen kwc i+ ww\f\

{0& .zw\'n‘\'J\-".. w} a\\'anf(‘K
&(AQ ga"\—i— j A vlo \,~|./\-_-\T ->

T ~+ — ¥ - Qo
\N et ?Qm'u’(h)\ “\DSof\o->\
LRV RV
/{)’ Povres = —CE_ ¥
'* ’\"-:\/-»L
§+a\& S q‘k ]’y ¢ -]—o KQQF 'k’(,\a v oovA o\+ fZOLO(‘_
SHtove e = 071
A= RS W
X es TA
*
7&‘950!‘&!—}\ 4r°w\ A‘&'{ Cénon '3 (k\,\( ?O‘“"‘-k/ j“\h
She LadX ewth '«C W weag ot
AN-T=Vo gl "TQVV\{ L‘?\‘C
_ /
pe (O .ﬂ\ S'Q:q' x (O ’ —\)— k)“( ( 6 -\.7
0\\45::{(9‘) _— . 501 395 w
s K
= M0 = W
S
p 15§ "¢

1% = (0 Q) <6_-Q:"$[O—%\ (“‘\7{’\ ) (33 )

("‘}‘:a\&}

New Section 1 Page 1



- 7:]'7() N

i R
FN:‘V 7 meé—:& Svsated

- q?é\o ~ Y90 = 300 v

T
Thorme Prowsses
N Castant P
7/3 C°V\S"k’\v:-k Y
FS) Csw§+o~vjr ’r | \/
"{5 Mo (/\Qg+ L« c\/\cwu7z <Q;°\ \/
[ .
'\ A _
I4
¢ :
Au — 0 J Isrlwfw\
&I QA CkoSl& ' S
?a’\b\ \/
; u-{\' : C(M\S aj( 9W6177
o
QH = b)+ QL
2 L
_\’/\)— QH—'QQ

% ST T Ta

New Section 1 Page 2



col

E:‘/\'LK'JQD

New Section 1 Page 3

1
Co = - =
T‘r\
(A)'{'Qc.: Q\*




